CEIRREF (X)) =asin2x+cos2x, HF (3/n) =2/43-1
RO ARMERIF (XD BIsKAE; (2) MF (XD fEAF4 X 8] /2 i R 20

ER:
SHIBREF (X) =asin2x+cos2x, HF (3/m) =2/v3-1
(R ARMERIF (X) WIEKAE;(2)mF (X) FEAAXIE] _ERBEE

L A1f(x)=asin2x+cos2x H.f(n/3)=(v3-1)/2
(v3-1)/2=asin(2mn/3)+cos(2mr/3)
v3-1/2=a*v3/2-1/2

a=2

y=f(x)=2sin2x+cos2x
y-2sin2x=cos2x=V[1-(sin2x)"2]
yA2+4(sin2x)"2-4y*sin2x=1-(sin2x)"2
5(sin2x)"2-4y*sin2x+y~2-1=0
ETTRERFIECA (sin2x) #1415 K 020, BP
(4y)A2-4%5%(yA2-1)20

yA2<5

-V5Sy<v5

& :a=2,f(x) B NAE=V5



